
Brittle stars are located in the ________ phylum.  
 
Brittle stars have an _____ and come in array of ____. 
 
Their arms can detect _____ and smells.  
 
Starfish and brittle stars ____ differently.  
 
A starfish uses _____ while a brittle star uses _____.  
 
Brittle stars slither like ______.  
 
Brittle stars are detrivores, meaning they eat ______ material and ______.  
 
Brittle stars can push their _____ through their _____ in order to digest larger pieces of food.  
 
A brittle stars’ mouth has _____ teeth.  
 
Brittle stars are _____. But they hide under rocks during the day.  
 
Gonads are located in the _____.  
 
Brittle stars arms can _____.  


